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 Section—I  

Note : Answer any two questions from this 

Section. 2×20=40 

1. (a) What do you mean by Indirect Utility 

Function ? 4 

(b) Let 
1( , ) .u x y x y   be the utility 

function, which a consumer maximizes, 
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subject to the budget constraint 

1 2P P Mx y  , where x and y are the 

commodity bundles which are consumed 

by the consumer. 1P  and 2P  are the 

respective prices and M is the income of 

the consumer. 

Derive the indirect utility function and 

show that any three properties are 

satisfied. 16 

2. An employee (player 1) who works for a boss 

(player 2) can either works (W) or shirk (S), 

while the boss can either monitor the 

employee (M) or ignore him (I). Like most 

employee-boss relationships, if the employee 

is working, then the boss prefers not to 

monitor, if the boss is not monitoring, then 
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the employee prefers to shirk. The game is 

represented by the following matrix : 20 

 Player 2 

        M I 

Player 1 

W (1, 1) (1, 2) 

S (0, 2) (2, 1) 

(a) Derive the best response function of 

each player. 

(b) Find the Nash equilibrium of the game. 

(c) Is there any mixed strategy Nash 

equilibrium ?  

3. Critically examine dynamic equilibrium and 

stability of a competitive market using 

Cobweb model. 20 
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4. Differentiate between the following : 5×4=20 

(a) Simultaneous move game and 

Sequential move game 

(b) Cournot duopoly and Stackleberg 

duopoly 

(c) Homogeneous and Homothetic function 

(d) Adverse selection and Moral hazard 

 Section—II  

Note : Answer any five questions from this 

Section. 5×12=60 

5. Define quasi-concavity of the utility function 

and discuss its properties. 12 

6. “Price effect is a combination of income 

effect and substitution effect.” Examine the 

statement using Slutsky equation for an 

inferior commodity. 12 
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7. Consider a duopoly market structure with 

two symmetric firms facing a demand 

function P (Q) = 130 – Q, where Q is the 

total output produced by the 2 firms 

1 2(Q )q q  . Consider the marginal cost of 

the 2 firms are MC = 10. Firms 

simultaneously decide the output 1 2( , )q q . 

Derive the Cournot-Nash equilibrium output 

and price at the firm level and industry 

level.    12  

8. Suppose you are a risk averse person, and 

your risk attitude can be represented by the 

following concave VNM utility function : 

( ) ,u w w  
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where w denotes wealth. Suppose your 

initial wealth is ` 100, and hence your initial 

utility is 100 10 . Imagine you are offered 

the following gamble : with probability 
1

2
 

you will win ` 156, and with probability 
1

2
 

you will lose ` 100. Would you like that 

gamble ? Explain. 12   

9. Define Hotelling’s lemma and Shephard’s 

lemma as an application to Envelope 

theorem.   12 

10. What are the assumptions of compensation 

principle ? Differentiate between Kaldor and 

Hicks’ compensation principle. 12 
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11. What is an efficiency wage rate ? Explain 

why it is profitable for the firm to pay an 

efficiency wage when workers have better 

information about the productivity than 

firms do.   12  
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dyk fu".kkr  (vFkZ'kkò)  

(,e- bZ- lh-@,e- ,- bZ- lh-) 

l=kar ijh{kk  

twu] 2025 

,e-bZ-lh-&101 % O;f"V vk£Fkd fo'ys"k.k 

le; % 3 ?k.Vs   vf/kdre vad % 100  

uksV % izR;sd Hkkx ls funsZ'kkuqlkj iz'uksa ds mÙkj fyf[k,A 

 HkkxµI  

uksV % bl Hkkx ls fdUgha nks iz'uksa ds mÙkj fyf[k,A 

  2×20=40 

1- (d) vizR;{k mi;ksfxrk Qyu ls D;k vfHkizk; gksrk gS \ 

     4 

([k) eku yhft, 
1( , )u x y x y   og mi;ksfxrk 

Qyu gS] ftls miHkksDrk vius ctV 
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1 2P P Mx y   ds v/khu vf/kdre djuk pkgrk 

gS] tgk¡ x rFkk y nks oLrqvksa dh ek=k,¡ gSa rFkk 

Øe'k% 1P  vkSj 2P  mudh dhersa gSaA M miHkksDrk 

dh vk; gSA 

vizR;{k mi;ksfxrk Qyu dh O;qRifÙk dhft, vkSj 

n'kkZb, fd og fdUg° rhu fo'ks"krkvksa dk ikyu 

djrk gSA  16 

2- ,d deZpkjh (f[kykM+h&1) fdlh ckWl (f[kykM+h&2) ds 

fy, dke djrk gSA og dke dj ldrk gS [W] vkSj 

dkepksjh [S] Hkh] rks ckWl Hkh mldh fuxjkuh [M] dj 

ldrk gS ;k mls ut+jvankt [I] dj ldrk gSA vf/kdka'k 

deZpkjh&ckWl laca/kksa dh Hkk¡fr ;fn deZpkjh dke dj jgk 

gks] rks ckWl mldh fuxjkuh djus dh t:jr ugha le>rk] 

fdUrq tc ckWl fuxjkuh ugha dj jgk gks] rks deZpkjh Hkh 
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dkepksjh djus yxrk gSA bl ^|wr* dks ge ,d vkO;wg ls 

fn[kk ldrs gSa % 20 

         f[kykM+h 2 

        M 1 

f[kykM+h 1 
W (1, 1) (1, 2) 

S (0, 2) (2, 1) 

(d) izR;sd f[kykM+h dk Js"Bre izfrfØ;k Qyu O;qRiUu 

dhft,A 

([k) bl |wr dk uS'k larqyu Kkr dhft,A 

(x) D;k dksbZ fefJr ;qfDr uS'k larqyu Hkh laHko gS \ 

3- edM+tky izfreku dk iz;ksx dj ,d Li/khZ cktkj ds 

xR;kRed larqyu vkSj LFkkf;Ro dh leh{kk dhft,A 20 

4- fuEufyf[kr esa Hksn Li"V dhft, % 5×4=20 

(d) lelkef;d pky |wr vkSj Øfed pky |wr 

([k) dwuksZ }S/kkf/kdkj vkSj LVSdycxZ }S/kkf/kdkj 

(x) le?kkr ,oa lefLFkr Qyu 

(?k) foijhr p;u vkSj uSfrd }U} 
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 HkkxµII  

uksV % bl Hkkx ls fdUgha ik¡p iz'uksa ds mÙkj fyf[k,A  

    5×12=60 

5- mi;ksfxrk Qyu dh v¼Z&voryrk dh ifjHkk"kk nhft, 

vkSj bldh fo'ks"krkvksa ij ppkZ dhft,A 12 

6- ßdher izHkko vk; izHkko rFkk izfrLFkkiu izHkko dk ,d 

la;kstu gSAÞ fdlh fuÏ"V inkFkZ gsrq LyV~Ldh lehdj.k 

dk iz;ksx djrs gq, bl dFku dh leh{kk dhft,A 12 

7- ,d }S/kkf/kdkjh cktkj jpuk ij fopkj dhft,] tgk¡ nksukas 

Qeks± ds ek¡x oØ le:i gSa % P (Q) = 130 – Q] tgk¡ 

Q ldy mRikn gS rFkk 1 2Q ( )q q  A eku yhft, 

nksuksa Qeks± dh lhekar ykxrsa ,d leku gSa % MC = 10A Qes± 

vius mRiknu Lrjksa 1q  vkSj 2q  dk ,d lkFk fu/kkZj.k djrh 

gSaA dwuksZ&uS'k larqyu mRiknu ,oa bl QeZ ds Lrj vkSj m|ksx 

ds Lrj ij dher dh O;qRifÙk dhft,A  12 

8- eku yhft, fd vki tksf[ke fojr O;fDr gSa vkSj vkidk 

tksf[ke n`f"Vdks.k vory VNM mi;ksfxrk Qyu 

( )u w w  }kjk n'kkZ;k tk ldrk gS] tgk¡ w vkidh 
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/ku&laink gSA eku yhft, fd izkjafHkd laink ` 100 gS] 

vr% vkidh izkjafHkd mi;ksfxrk 100 10  gksxhA eku 

yhft, fd vkidks ,d |wr dh is'kd'k dh tkrh gS] 

ftlesa vkidh laink ` 156 gks tkus dh laHkkO;rk 
1

2
 gS 

rFkk vkidh izkjafHkd laink ` 100 ds lekIr gks tkus  

dh laHkkO;rk Hkh 
1

2
 gSA D;k vki bl |wr eas Hkkx ysuk 

pkgsaxs \ O;k[;k dhft,A 12 

9- ifjoy; izes; ds ,d vuqiz;ksx ds :i esa gksV¥yx 

miizes; vkSj 'ksQMZ miizes; dh ifjHkk"kk nhft,A 12 

10- {kfriw£r fl¼kar dh vo/kkj.kk,¡ D;k gSa \ dkYMksj ,oa 

fgDl ds {kfriw£r fl¼kUr ds chp varj dhft,A 12 

11- ,d n{krk etnwjh nj D;k gksrh gS \ le>kb, fd tgk¡ 

Jfedksa dks mRikfnrk ds fo"k; esa Qeks± ls csgrj tkudkjh 

gks ogk¡ n{krk etnwjh dk Hkqxrku djuk Qeks± ds fgr esa 

(ykHkizn) gksxkA 12 

× × × × × 


